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(���

M���� ��
 �
��� ���� ���������� T *
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��� ����������� �� ����� �'������ 
��
)��
 ��������
�� ���������
H� #�
 ������� ������� �� �������� ����� ������� ��������������
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#�
 ��	�� ���'� ��������  m�-$� ������� �����
 ���������� � →
�′ * �. Æ�� � %
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 �������
�������� �� 
� ���
���� ����
)+�� ���������

∫
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������ ����� 
�������
  m�5$� ����� '��� ����������� � ����
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�� L� M� NOPQRSTQ� U� L� VWOXWO� PXY L� U� Z[YSTX� \ ]^_S� VWRR� ` ��� 1�.0.5� ��6�
�� a� bWcXWO� \ d� ]^_S� ��� 1�..�5� ���
�� e� M� fPSRghhP� i� f^PjOPQPOR_� \ k[lh� ]^_S� ���� 1�..�5� /���
�� M� mOWngX� i� ogjPpg� ��
�� �
� ����� �
 ��� 1�−�5 ����
���
 �� 
�
��
��� �����

������� ���������� !�"#$%��&�%�
6� i� M� qWOjPl^TQ PXY `� k� rPXPS^TQ� \ ]^_S� sWQ� VWRR� �� 1�..�5� �����
/� `� ]� m[j^QTSRTQ� e� L� aOThTQ� V� k� VgtPRTQ� M� `� N[OPWQ� \ k[lh� ]^_S�

�	�� 1�.065� /���
�� U� U� mPhgRSj_ PXY L� r� mOP[X� \ k[lh� ]^_S� m ��� 1�.0.5� 6���
0� L� r� mOP[X� e� ]� NTOl^WpSj_� PXY q� r[WhhWO� \ ]OTc� ]POR� k[lh� ]^_S� ��

1����5� ����
.� L� r� mOP[X� i� M� qWOjPl^TQ� PXY `� k� rPXPS^TQ� \ ]^_S� sWQ� VWRR� ��

1�..05� �����
��� u� r� rPhYPlWXP� \ `YQ� v^WTO� rPR^� ]^_S� 	 1�..05� ���w UXR� u� v^WTO� ]^_S�

�� 1�...5� �����
��� k� mWgSWOR� \ k[lh� ]^_S� m 
�
 1����5� ��
��� i� M� qWOjPl^TQ PXY `� k� rPXPS^TQ� \ k[lh� ]^_S� m ��� 1�..65� /06�
��� i� M� qWOjPl^TQ PXY `� k� rPXPS^TQ� \ u� ]^_S� ` 	� 1�../5� 0����
��� i� M� qWOjPl^TQ� i� N� NW^OWgX� PXY `� k� rPXPS^TQ� x k[lh� ]^_S� m ��� 1�..�5�

//��
�6� L� r� mOP[X� i� M� qWOjPl^TQ� e� ]� NTOl^WpSj_� PXY `� k� rPXPS^TQ� \ k[lh�

]^_S� m ��� 1�...5� �66�
�/� L� r� mOP[X� e� ]� NTOl^WpSj_� PXY `� k� rPXPS^TQ� \ k[lh� ]^_S� m 
��

1����5� /.�
��� `� L� mWhgRSj_� i� M� qWOjPl^TQ� e� ]� NTOl^WpSj_� PXY `� k� rPXPS^TQ� \ ]^_S�

VWRR� m ��� 1����5� �06�
�0� i� N� NW^OWgX� a� u� bWcXWO� PXY Z� r� ]gSypPj� \ k[lh� ]^_S� ���	 1�..�5�

//.�
�.� i� N� NW^OWgX� a� u� bWcXWO� \ k[lh� ]^_S� ��	� 1�..�5� 6���
��� i� N� NW^OWgX� \ k[lh� ]^_S� ���� 1�..65� ����
��� q� f� fThhgXS� ��
�����������
� fPpzOgYcW {XgQ� ]OWSS� fPpzOgYcW� �.0��
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��� Z[� r� rPjWWXjT� \ iTQ� u� k[lh� ]^_S� �� 1�.0�5� ���w ZPY� agn� �� 1�.0�5� 0���
��� U� r� eWh~PXY� r� U� eOPWQ� PXY k� ZP� LghWXjgX� -�
�������� �.
����
�� LTh� 6

UXRWcOPh cWTpWRO_ PXY OWtOWSWXRPRgTX R^WTO_� kW� ZTOj� kZ `lPYWpgl ]OWSS� �.//�
�6� v� �^OXYTO~� \ k[lh� ]^_S� m ��� 1�.0�5� �/�
�/� `� r� ]Th_PjTQ� \ uMv] VWRR� �	 1�.��5� �0�w ]gSpP d^� MjSt� vWTO� agn� �	

1�.��5� 6�0w d^� MjSt� vWTO� agn� 

 1�.��5� ���
��� f� a� q[Xjh� \ vOPXS� `pWO� rPR^� iTl� ��� 1�.0.5� �/��

eOVrWXsgt <� u�� dWvWYsgt :�w� Rv UsO YjOXUVxa gy WvgaWfgxY ;`�
aOvY`gvY gy XgajgY`UO gjOVWUgVY `v UsO YXWfWV zOf; UsOgV{�

|v UsO gvO�fggj WjjVgi`aWU`gv UsO jVgofOa gy UsO ;`WEgvWf`}WU`gv gy UsO
a`i`vE aWUV`i `Y O~x`tWfOvU YgaO ~xWvUxa aOXsWv`XWf O`EOvtWfxO jVgo�
fOa� ?gV UsO `ffxYUVWU`gv gy Us`Y UOXsv`r �O XgvY`;OV U�g Y`ajfOYU OiWajfOY
gy UsO YXWfWV zOf; UsOgV`OY�
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